ISIHIDA

4
A

IPC Series (Asia)

Service Manual

The First Edition

/N WARNING

u Read this manual thoroughly and do not perform installation, operation, maintenance, or

inspection unless you fully understand all of the contents.
| Keep this manual in a safe place where you can refer to it easiiy while installing, operating, and

carrying out maintenance or inspections.

This manual is for use by service personnel of cur company or qualified to perform maintenance
services for this machine. Use by anyone except the above personnel is not permitted.

ISHIDA CO., LT,

Manual Nc. 0183A






OUTLINE

+ Purpose of this manual
This manual is edited for the authorized servicing personnel and used when carrying out services and

maintenance of the machine.

» Relative manual .
Refer to the operation manual for ususal operations.

« Symbols used in this manual

1. Warning symbols

{ndicates information that, if not avoided, is likely to result in loss of life or serious

A\ DANGER iy,

&WARNING Indicates information that, if not avoided, may result in loss of life or serious injury.

Indicates information that, if not avoided, could result in relatively serious or minor

AXCAUTlON injury, damage to the machine or faulty operation.

2. Explanatory symbols

&NOTE Indicates information to call or emphasize for attention to the note.
= §‘ Indicates the reference page.
REFERENCE
2 indicates information to help understanding.
INFORMATION

« Readers of this manual
This manual is edited for the servicing personnel. Use by other personnel is not permitted.

» Note
This manual may be revised in accordance with modification when made in the machine.

All rights are reserved. Copying any part of this manual is prohibited without our permission.

Manual No, 0183A 1128 IPC Series {Asia) Service Manual



Contents

Chapter 1. Product OVEIVIEW ... s e 3
1.1 Product Overview........ [T TT T U TR TS RO T U PO PSP PO PP PP POTOPRTPPITRTOS 3

1.2 Standard SPeCIfICAIIONS ..ot 3

1.3 APPEBEIANCE . (.eeiet ittt 4

1.4 OPEratioN PANEH ...t 5

1B OUTET DIMIENSIONS (e iiie sttt bt tr e e et et e e e 6
Chapter 2 TeSt MOde .. 7
2.0 OPEFAHOM ..ottt 7

DA TESEMOE FIOW -ooooveroeeeeeeeeeee e ees e emee e 7

2.1.2  Kéy Functions (When SBHNG VAILUE) ..o s 8

243 SHAMING TESEMOUE oot e 8

214 ENAING TESEIMOGE oo ioiiitiiiir ottt o 8

2105 MEMOTY SWILTH oottt et 8

216 C1 Made ~ Country NO. SEHING . ....ooiiii i 9

217 C2 Mode — Scale No. and Decimal point Setting ... 10

2.1.8  C3 Mode — SPan AGJUSIMENE.. ... oot 11

21.8 F Mode - Setting measuring conditions and E2ROM cl@ar.........oinn 12

210 EITOr NO. LIS oottt ettt e e 13

Chapter 3 Hardware Configuration ... 14
TR B o a = 12 1<) 11 L= U U T U U O P PP PSP PSP PO P T PP P EP L PRPMEREPPRR 14

3.1.1  Small Size (3KG, BKG) ccooveiiiiie it s 14

31,2 Large Size (15KG ZBOKG) oottt ~16

3.0 ElBCHIC oMM . ettt iee et et ettt ek 18

3.2, BIOCK DIBGIFAIM ..ottt ettt e 18

302 B0 PS=005 oot oot 18

Chapter 4  MaintenanCe et 20
4.1 Disassembly Procedure (Small Size: 3Kg & BKG)..oovooiom . 20
411 Base REPIACEIMENT. ...ttt 20

412 Board REPIBEBMENT ..ot ittt e 21

413 Load Cell REPIBCEIMENT ..ot it 22

4.2 Assembly Procedure (Large Size: 15Kg ® 30KG) ..o 24
421 BASE REPIBCEIMEBML .ottt 24

422 Board REPIBCEIMEINT ..ottt e e 25

423 Load Call RePIGCEIMENT Loii i et 26

4.3 TrOUBIESNOOTING . ot it 28

Manual No. 0183A 2/28 {PC Series (Asia) Service Manual



Chapter 1. Product Overview

1.1 Product Overview

« The IPC Series is a digital scale which can be operated with two batteries.
« The large LCD with 25mm height is provided for the dispiay.

1.2 Standard Specifications

tem : . Description:: ,
Small size Large size

Type name

IPC 3kg IPC 6kg IPC 15kg {PC 30kg

3kg/1 6kgl2 15kg/5 30kg/10
Weighing capacity - 3-8 - g'eg 91 - g

Single range Single range Single range Single range
) 0.001kg 0.002kg 0.005kg 0.01kg
Scale unit
3.000kg/0.001kg 6.000kg/0.002kg 15.000kg/0.005kg 30.00kg/0.01kg

Accuracy 1/3000 ‘
Weigh platter size 200mm(L)x230mm(W) ( 293mm(L)*x280mm(W)

Display

LCD type 6 digits (7segments) Height : 25mm

Environment condition

Ambient temperature: -50C to +400C
Relative humidity: 80%RH (Max.), no condensation

Power source

Two D-sized dry batteries or AC adaptor
[ Battery duration ]
Two alkaline D-sized batteries (Approximately 500 hours)

Current consumption Max. 25mA
Auto power off Select: 60 minutes (default), 20 minutes or non Auto power off
Weight (excl. battery) 2.0kg [ 3.2kg
. AC adaptor (Dealer Option
Option —OutpSt vol(tage prer)
- 3.2 to 6.0VDC (current load at 25mA, or at IPC connection)
(caution)

1. Output voltage must not exceed 6.0V even if power supply voltage is at +10%.
2. Output voltage exceeds 3.2V even if power supply voltage is at =15%.

- Generally, AC adaptor output voltage varies with load current.
Confirm output voltage with 2 25mA load current (IPC current)

- Qutput plug configuration/potarity
- Configuration Specification EIAJ RC-5320-2
- Polarity Center Plus

Manual No. 0183A

3/28 IPC Series (Asia) Service Manual




1.3 Appearance

Front view
Weigh platter .

Rear view

Level vial

Bottom view

AC adaptor inlet

2 of D-sized dry baftery

Manual No. 0183A 4/28 IPC Series (Asia) Service Manual



1.4 Operation Panel

ISHIDA )

>

ZER . =

kg e=0.001kg Min Q.02kg T=-2.888kg )

Max 3

Manual No. 01834 5/28 iPC Series (Asia) Service Manual



1.5 OQuter Dimensions

Small size
236
230 100
Q |
-
Qe
&
[T G=9
L ]
b
C_ &
— m—i
Large size
286
280
~o ~3
83
N[

D]

C__ &

14
BN\
ya
/s

|

{

Manual No, 0183A : 8/28 IPC Series (Asia) Service Manual



The Test Mode is used for diagnosis and/or setting at maintenance service.

2.1 Operation
2.1.1 Test Mode Flow

START |— LOO3 B Program No. display

Ct X Setup of Country No. —-l TARE

TARE i l

C2 XX | |Setup of Scale No. -
r___ And Decimal point T _—_—J
-TARE | i

Yy Y
3 Span adjustment ||

=) D &)

A\

Fxxx ——|Setting measuring CONDITIONS

ll E2ROM clear
v &= -

END

Note: Press the memory switch at any time during test mode to record the data to the E2PROM.
Then “P-EP" appears in the display.

Manual No. 0183A 7/28 IPC Series (Asia) Service Manual



2.1.2 Key Functions (when setting value)

" Function = .~

 Key

ON - Use at TEST mode stariup.

(Press this key while the TARE key is depressed.)
OFF | . Use at TEST mode end

ZERQ | - Use when selecting digits.

- Press when fixing values after mode or data selection.
TARE

- Increments values for each press during data change.

* - Press when entering C3 or F mode

(Tactite switch in the main circuit board)
Stores E2ROM data set for each item of the C and F mode.

1. Press and release the ON/OFF key while the TARE 'y n ng
key is depressed. L Ly ‘
2. Release the TARE key. Tl | ! t
Lot 0

2.1.4 Ending Test Mode

1. C mode / F mode status

2. Release the ON/OFF key after depressing for one )
second or more.

2.1.5 Memory Switch

1. C mode / F mode status

2. Press the |O] Memory Switch.

Manual No. 0183A 8/28 IPC Series (Asia) Service Manual



2.1.6 C1 Mode — Country No. Setting

1) Country No. Table

0: 210%
0 0 0 0 0 1 0 Start range 1. £09 1 [n]o]
0: Lights on at true zero
0 0 0 0 1 0 0 | Zero point mark 1. Lights on at 2 D1
Provisional zero o
Below true zero o:"__" 10
! 0 0 0 ! 0 0 indication 1 T\—)—e-é-ative value 4 D2
Cleaning tare 0 No
0 0 0 0 1 0 1 | weight by pressing 1: Yes 8 D3
ZERO key )
. Decimal point o
0 0 ! J 0 0 ! 0 indicator 1" ! D4
OQver-scale 0: BLANK )
v 0o 07 T 1000 Fidication 1."0L" 2 g | DS
0 0 0 0 1 0 1 Tare subtraction O Possrble‘ 4 D6
1: Not possible
0 0 0 0 0 0 0 | Reserve 8 D7
Stabilized, 0: 5 times
0 0 0 0 0 0 0 re-stabilized . ' 1 D8
1: 8 times.
frequency
Re-stabilization 0. 2 times over
0 0 0 0 0 0 0 Starting range 1: 4 times over 2 102 D¢
0 0 0 0 0 0 0 Sta@!;zed/re- 0:3 tfmes 4 D10
stabilized range 1. 5 times
Section 0: No :
! 0 0 0 0 0 0 adjustment 1: Yes (JAPAN) 8 o1

| 804 | 000 | o010 020 | 04E | 011 ] 048

2) Operation

1. Stating Test r' ] !
L1 }
2. Setup of Country No.
- To select the No., use the [ " ] key
- Example: ASIA=2 “" " E I

3. When the C2 mode is then required, press the TARE key. [
i

Tad
L
- When finishing, press the (& Memory Switch to record the P -
data to the memory, and enter the Ending Test Mode.

Manual No. 01834 9/28 IPC Series (Asia) Service Manual



2.1.7 C2 Mode - Scale No. and Decimal point Setting

1) Scale No.[ X1] Table

1 3kg (2g/1g) Multi interval 30000 (20/10)

2 6kg (5g/29) Multi interval 30000 (25/10)

3 15kg (10g/5g) Multi interval 30000 (20/10)

4 30kg (20g/10g) Muiti interval 30000 (20/10)

5 3kg (19) Single range 30000 (10)

8 6kg (29) Single range 30000 (10)

7 | 15kg (50) Single range 30000 (10)

8 30kg. (109) Single range 30000 (10)

9 Blb (0.0051b/0.0021b) / 3kg (2g/1g) Multi interval Ib/kg | 30000 (25/10) / 30000 (20/10)
A 15lb (0.011b/0.0051b) / Bkg (5g/2g) Multi interval lb/kg | 30000 (20/10) / 30000 (25/10)
B 301b (0.0210/0.011b) / 15kg (10g/5g) Multi interval Io/kg | 30000(20/10) / 30000 (20/10)
cC 60lb (0.051b/0.02Ib) / 30kg (20g/10g)  Multi interval Ib/kg 30000(25/10) / 30000 (20/10)
D 1000z (0.10z/0.050z) Multi interval oz 20000 (20/10)

2) Decimal point indication [ X2 ] Table

la
1 "Q"
2 "0.0"
3 "0.00"
4 "0.000"

Manual No. 0183A 10/28 IPC Series (Asia) Service Manual



3) Operation

Operation

1. Stating Test

2. Scale No. and Decimal point indication mode
- Press the [ TARE J key ON  (1* digit flashes)

2.1 Scale No. Setting
- Press the [ * ] key ON four times {X1=5)

2.2 Decimal point indication Setting
- Presé the [ZERO 1 key ON (2™ digit flashes)

- Press the [ * ] key ON three times (X2=4)

- Example: ASIA 3kg (1g) Single range X1=5, X2=4

Test Mode.

- When the C3 mode is required, press the TARE key.

- When finishing, press the Memory Switch to
record the data to the memory, and enter the Ending

2.1.8 C3 Mode - Span Adjustment

1) Operation

=+ "Operation

25000 counts).

1. Stating Test r
L
2. Span Adjustment mode r j VVVVV
2.1 Press the TARE key ON for two times. L J
2.2 Pressthe[*] key ON  displays original A/D data ‘ jn j j
(The normal range for original A/D data is 1000 to 'J'_’ I L

2.3 Press the [ *] key ON with zero load on the weigh
platter — Approx. 5000 count is diplayed.

Manual No. 0183A 11/28

|PC Series (Asia) Service Manual



2.4 Press the ZERQ key if the count diverges from 5000
counts.

L3

M
LI

2.5 Put the weight same as weighing capacity on the
weigh platter, then press the [ "1 key  "CAL"is r
displayed, then the A/D count becomes "35000" on 1 H
the display. B
If the count diverges from 5000 counts, unload the
weight and repeat the operations as set outin 2.4 and 35

2.5,

kg

|
LIy

g 1 i

€3

2.6 When the C3 mode is required, press the TARE key. !

ﬂl‘li
o

|

- When finishing, press the @ Memory Switch to P r
record the data to the memory, and enter the Ending I:
Test Mode. )

9

« “CAL” operation can not be performed unless zero-point adjustment is finished.
/N\NOTE |+ “CAL" operation can not be performed unless the original A/D value exceeds
33300 counts when the weight is lcaded.

2.1.9 F Mode - Setting measuring conditions and E2ROM clear

» All data has been fixed according to country specifications.
/N NOTE : o ;

« Altering data may not conform to weighing and measuring tests for a country.
= § « See 1.6 "C1 Mode-Country No. Setting” for Measurement Conditions Setup
== Table.

REFERENCE

1) Operation

A ©. - Operation " . Display o
1. Stating Test = !
L1 !
2. Setting measuring conditions ;E rrr
2.1 Press the TARE key for three times Lirsey
2.2 Pressthe[*1 key The least significant digit blinks.
Whenever the [ *] key is pressed, the required digit can be | | I nnn
selected. ' IEFRyN]
2.3 Whenever the [ *] key is pressed, the figure of the digit c’ K1
which has blinked does the increment. 1 1403

Manual No. 0183A 12/28 IPC Series (Asia) Service Manual

/\.\»\%



3. E2ROM clear
®ny scene of F mode is possible.

3.1 Press the ZERO key and [ * 1 key.  "EP-C" then"C1-1"is

displayed. IEP - ]

L
&NOTE At this point, writing in E2ZROM of change data in :
F mode and the default value to E2ROM clear i | A | !
has not been cpmipeted. Push the memory lL { [}
switch.

&NOTE E2ROM clear initializes Country No., Scale No.,
Zero, and Span adjustment values. It is
necessary to set it again.

4. Writing in E2ROM U FP
Push the memory switch to memorize data. ! ;

ANOTE After E2ROM is cleared, if writing is performed in
E2ROM without setting Country No., Scale No.
nor Zero/Span adjustment value, and the power
is turned on, "Err1" is displayed and it is not -
possible to use the machine. Set C1, C2, and C3
again.

ia
ﬁ
‘

Data after E2ROM is cleared

JAPAN

c2 11 Scale No.= 3kg (2g/1g) Multi interval Decimal point indication=" 0"
C3 Zero point and span adjustment value and each approximate value
F 804 Measurement condition

2.1.10 Error No. List

Err At power ON | E2PROM unsetting or garbled data

Em2 At power ON | Outside start range

Outside range where zero point can be adjusted (original A/D 1000

Err3 Test mode
count or less)

Errd Test mode (Original A/D 25000 count or more)

Outside span adjustment possible range (original A/D 33300 count

Err5 Test mode
or more)

Err6 Normal mode | Original A/D zero count or jess

Manual No, 0183A : 13/28 IPC Series (Asia) Service Manual



Chapter 3 Hardware Configuration

Mechanisms

3.1

3.1.1 Small Size (3kg, 6kg)

|PC Series (Asia) Service Manual

14/28

Manual No. 0183A



IPC 3kg 6kg Single Display Asia Service Parts List

No. [ & o parts Name i ‘?-.wé;‘gh‘mgyca’g,gc;t‘y-‘f‘; Qo
1 |PLATTER 1
2 | PLATE: SUPPORT 2
3 | LOAD CELL (CZL-8D-C3-5kg-1000) 3kg 1
3 | LOAD CELL (CZL-8D-C3-10kg-1000) Bkg 1
4 |CASE 1
5 |BASE 1
6 |FOOT: LEVEL 4
7 |BATTERY: COVER 1
8 |LUCENT: PLATE 1
9 | SHEET: DISPLAY: FRONT 3kg 1
9 | SHEET: DISPLAY: FRONT 6kg 1
10° | SHEET: DISPLAY: REAR 1
11 | SLEEVE 4
12 | NAME PLATE: SPEC 3kg 1
12 |NAME PLATE: SPEC , Bkg 1
13 |PUSH RIVET 2
14 | PWB PS-005A 1
15 | LEVEL UNIT 1
18 | SCREW ST 4x 14 4
19 |SCREW M6x25 4
20 - |WASHER & 4
21 |SPRING WASHER & 4
22 |SCREW M4x12 8
23 |SCREW ST3x8 3
24 |SCREW M5x16 4
26 |SCREW M4x10 5
27 |SCREW ST4x10 2
30 |CUSHION BATTERY 2
31 |SCREW M4x12 1
32 | SHEET 2
33 |BATTERY HARNESS 1
34 |SPRING 1 1
35 |SPRING 2 1
36 |WASHER 5 4
37 |E:RING 3 1
38 |PRINTER GND CORD 1
39 |FILTER 1
40 |PROTECT:SHEET 1

Note: Parts number may change without notice due to product improvement.

Manual No. 0183A 15/28 IPC Series (Asia) Service Manual



3.1.2 Large Size (15kg z30kg)

IPC Series {Asia) Service Manual

18/28

Manual No. 0183A



IPC 15kg,30kg Single Display Asia Service Parts List

No. |- . Parts Name | Weighing Capacity Q.
1 PLATTER 1
2 CASE 1
3 LUCENT: PLATE 1
4 SHEET: DISPLAY: FRONT 15kg 1
4 SHEET: DISPLAY: FRONT 30kg 1
5 SCREW ST3x8 3
8 PWB PS-005A 1
7 PRINTER GND CORD 1
8 SCREW ST4x14 4
9 LOAD CELL (CZL-8D-C3-25kg-1000) 15kg 1
9 LOAD CELL (CZL-8D-C3-50kg-1000) 30kg 1
10 | SCREW M4 x12 2
11 SCREW M5x25 4
12 PLATE: SUPPORT 2
13 PLATE: A: COVER 1
14 SCREW M4 x 10 9
15 FOOT: LEVEL 4
16 PROTECT: SHEET 1
17 E:RING 3 1
18 SCREW M4 G12 1
19 BATTERY: COVER 1
20 CUSHION BATTERY 2
21 SPRING 1 1
22 SHEET 1
23 LEVEL UNIT 1
24 SPRING 2 1
25 BASE 1
27 BATTERY HARNESS 1
28 FILTER: CORE 1
29 SCREW M8x25 4
30 WASHER 6 4
31 SPRING WASHER 6 4
32 NAME PLATE: SPEC 15kg 1
32 NAME PLATE: SPEC 30kg 1
33 PUSH RIVET 2
35 SHEET: DISPLAY:REAR 1

Note: Parts number may change without notice due to product improvement.

Manual No. 0183A 17/28

IPC Series (Asia) Service Manual



3.2 Electric Concerns

3.2.1 Block Diagram

]
Load cell
(4 types depending on

-
% weighing capacity

|
Main board PS-005

GND connection

[]
N
[

AC adaptor
(Option)

Batteries

3.2.2 Board PS-005

O CN5 O cns JP3 O
] 0
o o4P2
CN&

GN

SW5 B)

@)

W)

CN1 @ oo (R)

JP5
JP4
CNZD ©co o o
JP1

JP6
600 CN3 ’

——0)

Manual No. 0183A 18/28 {PC Series (Asia) Service Manual



Connector

CN1: AC adaptor input

| Pin No. v e
2 AC adaptor power source DC 2.4 to-6.0V
3 GND (Circuit)
4 GND (Battery)

Fomanis

CN2: Battery input

1 GND (Battery)

2 Battery power source DC22t0 3.2V

CN3: Not used
CN4: LCD display data output
CN5: Not used

CN6: Load cell input

1 (R) Vee DC5sv

2 W GND GND

3 (G) IN+ Approx 2.5v

4 (B) IN- Approx 2.5v

5 GND GND GND
Jumper

JP1: Ferrite cut

JP2: Ferrite cut

JP3: Ferrite cut

JP4: Ferrite cut

JPS: Battery GN and Circuitry GND
JPE: Filter cut

Switch
SW5: E2ZROM Memory switch

Manual No. 0183A : 19/28 IPC Series (Asia) Service Manual



‘Chapter 4 Maintenance

4.1 Disassembly Procedure (Small Size: 3kg e 6kg)

The seal restricts the peel according to the country by a no report and doing as wanting

&NOTE put it. Follow the relevant procedure for the respective countries.

4.1.1 Base Replacement

Disassembly procedure

1. Remove dry batteries when using batteries. Remove the AC adaptor when using the AC
adaptor.

Remove four foot levels.

Peel off the approval seal.

Remove the four M4x10 screws.

Lift the base, and pull out the battery harness from CN2 of main board PS-005.

ssembly procedure
Perform in reverse order to disassembly.
The approval seal material is a void seal. It is not possible to use it again. Use a new approval
seal.

S S

Manual No. 0183A 20/28 IPC Series (Asia) Service Manual



4.1.2 Board Replacement

1. Remove the load cell cable and grand cable using the soldering iron.

2. Remove the three ST3x8 screws where the board is fixed.

3. The board is fixed with four hooks and one lib as shown in the photo.
Press down the place shown by the arrow while pulling towards yourself, then remove the
hook 1 by sliding the entire board to the left and out.

4. Perform in reverse order for assembly.

Then, install the base.

6. Install dry batteries, clear E2ROM, and perform settings and span adjustment in C1, C2, and
C3 modes.

o

mLoad "Celkl cord

Sl

Manual No, 0183A 21/28 IPC Series (Asia) Service Manual



4.1.3 Load Cell Replacement

Remove the load cell cable and ground cable by using the soldering iron.

Remove the ST4x10 screw which fixes the cable clamp.

Remove the four M5x16 screws which fixe the plate support at four case locations.
Remove the case.

RSN

ST4X10

Manual No. 0183A 22/28 IPC Serigs (Asia) Service Manual



6. Remove the M6x25 hexagonal bolts, spring washers and flat washers, which fix the plate support and
joad cell in two locations both above and under.

Plate Support (Lower)

|

Mg % 25
Spring Washer

Washer

{Lower )

Platter side

Plate Support (Up

7. Fix a new load cell and fix in four locations on the upper and lower plate support with flat washers,
spring washers, and M6x25 hexagonal bolts order.
The direction of load cell installation should be carried out on the lower plate support on the cell cable
side.

8. Confirm whether each cell limit space in the 8-location set screws is within a specified value.
Adjust by turning the set screws to the regulations value, and apply the screw lock agent if differing
from a specified value.

3kg(0.7mm) ' 3kg(0,8mm)
Bkg(0.8mm) 3kg,8kg(0.5mm) Bkg{1.0mm)

9. Start the test mode, and perform the C3 mode span adjustment.

Manual No. 0183A 23/28 IPC Series {Asia) Service Manual



4.2 Assembly Procedure (Large Size: 15kg  30kg)

4.2.1 Base Replacement

The seal restricts the peel according to the country by a no report and doing as wanting

/A\NOTE | putit.
Do the procedure in a pertinent country.

Disassembly procedure

1. Remove two dry batteries when using the batteries. Remove the AC adaptor when using the
AC adaptor.

Remove the four foot levels.

Peel off the approval seal.

Remove the four M4x10 screws.

Lift the base, and pull out the battery harness from CN2 of the main board PS-005.

S S

Assembly procedure
1. Do in the reverse order for assembly.

2. The material of approval seal is void seal. It is not possible to use it again. Put a new approval
seal.

E—
Foot Level

Manual No, 0183A 24128 IPC Series (Asia) Service Manual



4.2.2 Board Replacement

1. Remove the load cell cable and ground cable by using the soldering iron.

2. Remove the three ST3x8 screws where the board is fixed.

3. The board is fixed with the four hooks and one lib as shown in the photo.
Press down the place shown by the arrow, while pulling towards yourself, then remove the
hook 1 by sliding the entire board to the left and out.

4. Do in the reverse order for assembly.

Then, install the base.

6. Install the two dry batteries, clear E2ROM, and perform settings and span adjustment in C1,
C2, and C3 modes.

o

Manual No. 0183A 25/28 IPC Series (Asia) Service Manual



4.2.3 Load Cell Replacement

1. Remove the load cell cable using the soldering iron.

2 Remove the M4x10 screw which fixes the cable clamp, then remove the ground cable and
load cell cable.

3. Remove the four ST4x16 screws where the platter and plate support are fixed.

Plate Supbport
{lower)

Platter

4. Remove the MBx25 hexagonal bolts, spring washers and flat washers, which fix the plate
support and load cell in two locations both above and under.

Plate Suppon(lower)ij%
=

@/Sprmg Washer

N

5 Fix a new load cell and fix in four locations on the upper and lower plate support with flat
washers, spring washers, and M6x25 hexagonal bolts order.
The direction of load cell installation should be carried out on the lower plate support on the
cell cable side.

6. Confirm whether each cell limit space in the 8-location set screws is within a specified value.
Adjust by turning the set screws to the regulations value, and apply the screw lock agent if
differing from a specified vaiue.

Manual No. 0183A 26/28 IPC Series {Asia} Service Manual



15kg(t. 4mm)
30kg(1.8mm)
—_—

7

/

I}

m

o=

=

.

Vi
o
:

15kg(1.5rmm) |
30kg(2.0mm) /

15ky 30kg(.6mm)

N
MSX25

Set Screw M4X12

el

7. Start the test mode, and perform the C3 mode span adjustment.

Manual No. 0183A

27128

IPC Series (Asia) Service Manual



4.3 Troubleshooting

_ Symptom

st Cause

i Meastire T

1. The display check does not
start when the power switch is
pushed.

1. Trouble of dry battery power

supply system

» Check and replace dry batteries

+ Confirmation and exchange of
battery harness

2. AC adaptor trouble

» Check output voltage (DC2.4-6.0V)
and replace AC adaptor

3. Main board trouble

Replace the main borad PS-005A.

“0"kg does not appear on the
display.

2. Power ON  Display check 1. Garbled E2ROM data or « Initialize, perform C1, and C2 and
"Err1" initialized state. C3 settings, then push the memory
switch.
_ 2. Main board PS-005A trouble | = Replace the main board PS-005A.
3. Power ON  Display check 1. Outside weight value start « Check if anything is placed on the
"Err2" . range platter. If so, remove it.
» Replace the load cell.
+ Replace the main board PS-005A.
4. Power ON  Display check 1. Weight value is unstable. » Check if something comes in contact

with the platter. If so, remove it.

Check if there is wind or vibration
near the machine. If so, avoid these.

Replace the main board PS-005A.
Replace the load cell.

‘5. Weight varies at four corners.

1. External or load cell trouble

» Check if the horizontal state is being
kept. .

Check if there is foreign article
between the platter and the case.

Check if space of limit adjustment
SCrew is narrow

Replace the load cell.

6. The ZERQ or TARE key does
not function.

1. Outside of zero-adjustment
or tare subtraction range

» Check that zero-adjustment or tare
subtraction is within the specified
range.

2. Weight value is unstable.

+ Check if something comes in
contact with the platter. If so,
remove it

Check if there is wind or vibration
near the machine. if so, avoid
these.

Replace the main board PS-005A.
Replace the load cell.

7. The power supply cuts when
time passes.

1. Auto power OFF setting.

« Check if the auto power OFF
function works.

s Default is 80 minutes.

2. Main board PS-005A trouble

« Replace the main board PS-005A.

Manual No. 0183A

28/28

IPC Series (Asia) Service Manual










